
1



NOTE: INSTALLATION MUST BE DONE BY A QUALIFIED, LICENSED PROFESSIONAL.

GLASS THICKNESS 3/8"

Parts List
1. Wall mount bracket (1pc)
2. Fixed panel holders (2pc)
3. Rollers (4pc)
4. Big front fixed panel (1pc)
5. Small front fixed panel (1pc)
6. Side glass panel (1pc)
7. Door (1pc)
8. Corner bracket (2pc)
9. Handle assembly (1pc)
10. Fixed panel bottom clip (1 pc)
11. Bottom door guide (1 pc)
12. Door threshold (1pc)
13. Left threshold clip (1pc)

12

22

15

16
2

3

9

7

17

19

6

18

10

11

1

4

8

24

15

18

20

22

18

21

23

14

25

5

19

14.      Right threshold clip (1pc)
15.      Door stopper (2pc)
16.      Structural rail (1pc)
17.      Structural rail screw (1pc)
18.      Side seal strip (3pc)
19.      Door seal strip  (3pc + 1 extra)
20.      Glass support (2pc)
21.      Phillips screws 1 1/8" (3pc)
22.      Hex screws 1 5/8" (3pc)
23.      Phillips screws 3/4" (2pc)
24.      Plastic anchors white (3pc)
25.      Plastic anchors green (5pc)
26.      4mm Hex screw cover (5pc)
27.      Allen key pack (1 pack)

2

MODEL VG06051 WINSLOW

PLEASE READ INSTRUCTIONS BEFORE PROCEEDING
INSTALLATION INSTRUCTIONS FOR SHOWER ENCLOSURE

23

13

2



11MODEL VG06051

B1B.    INSTALLING THE BIG FRONT FIXED PANEL
1.    Screw the fixed panel bottom clip (#10) to the
       big front fixed panel (#4).  Place thin gaskets
       on each side of the panel.

2.    Place the side seal strip (#18) on the big front
       fixed panel (#4) on the side of the wall.

THIN GASKET

4

10

B2

4

18

WALL SIDE

4

10

TOP VIEW

INSIDE OF THE SHOWER

OUTSIDE OF THE SHOWER

18

THIN GASKET

THIN GASKET

3



4



BEFORE INSTALLATION:  If needed, remove the plastic layer of the base border. Do not remove the plastic
layer off the plastic platform of the base. Wall and base joints must be siliconed properly.

RIGHT INSTALLATIONLEFT INSTALLATION
door door

DOOR PANEL

FIG. 1A (GLASS CONFIGURATION DIAGRAM)

DOOR PANELBIG FRONT
FIXED PANEL

SMALL FRONT
FIXED PANEL

BIG FRONT
FIXED PANEL

SMALL FRONT
FIXED PANEL

SIDE GLASS
PANEL

SIDE GLASS
PANEL

MODEL VG06051 5

WARNING
VIGO STRONGLY RECOMMENDS THIS INSTALLATION BE COMPLETED BY A LICENSED PROFESSIONAL.
INSTALLATION OF DOOR UNIT REQUIRES AT LEAST TWO PEOPLE.

REQUIRED TOOLS:
 Square and/or Phillips #1 and #2 screwdriver
 Flat head screwdriver
 Electric drill plus 1/8", 3/16", or 3/32" drill bit (depending on wall)
 Level
 Measuring tape
 Pencil (non-permanent)
 Clear silicone caulking
 Utility knife

PLEASE NOTE:
THE CLEAR GLASS MODEL HAS A REVERSIBLE DOOR AND CAN BE INSTALLED TO THE RIGHT OR
LEFT SIDE.  (SEE CONFIGURATION DIAGRAM BELOW)

!

BEFORE STARTING
Compare items on your invoice with what you have received. Carefully review the Parts List on page 2. If any
items are missing, please call Vigo Industries at 1-866-591-7792. Please check our website at
www.vigoindustries.com for additional information or instructional videos.

IMPORTANT
 Fiberglass, acrylic or sheetrock construction might not be sufficiently strong enough to support the shower

door enclosure. You should use the wood framing from behind the face edge of the stall to provide a secure
mounting to the door. Apply a bead of silicone between the walls and base of the stall.

 For optimum performance, you should install the shower door perfectly level on a level surface. By  not
leveling the unit during construction the unit may leak causing possible water damage.

INSTALLATION OF THE SHOWER DOORS BY AN INEXPERIENCED PERSON MAY RESULT IN GLASS
BREAKAGE AND CONSEQUENTLY, CAUSE PERSONAL INJURY OR DEATH.
- Handle fragile items with care to prevent personal injury or material damage.
- The glass panels are tempered and cannot be cut.  Never attempt to do so.
- Always rest glass on a level surface

See suggestion of configuration below.

5



6



7MODEL VG06051

INSTALLATION STEPS
*NOTE:  For ease of installation, place
the door panel (#7) on the inside of the
cabin before starting.  The
measurements of 69 1/2", 70 1/4", 33
3/4" should just be used as a guide.
Your actual dimensions may vary.

A1

A.    INSTALLING THE SIDE GLASS PANEL
1.     Arrange the glass panel to the preferred
        configuration (see diagram on pg.5).  Install
        the seal strip (#18) to both sides of the side
        glass panel (#6). The seal strip (#18)  that is
        not against the wall needs to be cut below
        the structural rail at a height of *69 1/2".
        The structural rail will install through the
        small notch on the side glass panel (#6).

2.     Screw the glass support (#20) to the side
        glass panel using the hex key (supplied).
        Use a washer on each side of the panel.

3.  Place the structural rail screw (#17) into the
        side glass panel and screw together with the
        structural rail (#16). NOTE: A minimum of
        2 people will be needed to perform this
        step.

18

WALL
SIDE

DOOR
SIDE

6
18

18

18

6
15

16

A2

THIN
GASKETS

20

20

A3

18

6
15

16

20

17

6
9

 1
/2

"

7MODEL VG06051

INSTALLATION STEPS
*NOTE:  For ease of installation, place
the door panel (#7) on the inside of the
cabin before starting.  The
measurements of 69 1/2", 70 1/4", 33
3/4" should just be used as a guide.
Your actual dimensions may vary.

A1

A.    INSTALLING THE SIDE GLASS PANEL
1.     Arrange the glass panel to the preferred
        configuration (see diagram on pg.5).  Install
        the seal strip (#18) to both sides of the side
        glass panel (#6). The seal strip (#18)  that is
        not against the wall needs to be cut below
        the structural rail at a height of *69 1/2".
        The structural rail will install through the
        small notch on the side glass panel (#6).

2.     Screw the glass support (#20) to the side
        glass panel using the hex key (supplied).
        Use a washer on each side of the panel.

3.  Place the structural rail screw (#17) into the
        side glass panel and screw together with the
        structural rail (#16). NOTE: A minimum of
        2 people will be needed to perform this
        step.

18

WALL
SIDE

DOOR
SIDE

6
18

18

18

6
15

16

A2

THIN
GASKETS

20

20

A3

18

6
15

16

20

17

6
9

 1
/2

"

7



7MODEL VG06051

INSTALLATION STEPS
*NOTE:  For ease of installation, place
the door panel (#7) on the inside of the
cabin before starting.  The
measurements of 69 1/2", 70 1/4", 33
3/4" should just be used as a guide.
Your actual dimensions may vary.

A1

A.    INSTALLING THE SIDE GLASS PANEL
1.     Arrange the glass panel to the preferred
        configuration (see diagram on pg.5).  Install
        the seal strip (#18) to both sides of the side
        glass panel (#6). The seal strip (#18)  that is
        not against the wall needs to be cut below
        the structural rail at a height of *69 1/2".
        The structural rail will install through the
        small notch on the side glass panel (#6).

2.     Screw the glass support (#20) to the side
        glass panel using the hex key (supplied).
        Use a washer on each side of the panel.

3.  Place the structural rail screw (#17) into the
        side glass panel and screw together with the
        structural rail (#16). NOTE: A minimum of
        2 people will be needed to perform this
        step.

18

WALL
SIDE

DOOR
SIDE

6
18

18

18

6
15

16

A2

THIN
GASKETS

20

20

A3

18

6
15

16

20

17

6
9

 1
/2

"

8MODEL VG06051

4.     Place the side glass panel (#6) with the
        structural rail (#16) into desired position.
        Use the level to correct position assembly.
        Mark holes on the wall for the side glass
        support (#20).  Mark the circumference
        location for the wall mount bracket (#1).

NOTE: Make sure to keep the side glass
        panel perpendicular to the structural rail.
        Failure to do this can lead to the glass
        breaking and bodily harm.

5.     Remove the side glass panel (#6) and the
        structural rail (#16).  Drill holes into the wall
        where marked for the glass supports (#20)
        and in the center of the circumference of the
        wall mount bracket (#1) *70 1/4" and place
        plastic anchors (#24) in them.

A4
20

20
1 6

16

24

24

A5

7
0

 1
/4

"
7

0
 1

/4
"

7
0

 1
/4

"

33 3/4"

7

7 8



8MODEL VG06051

4.     Place the side glass panel (#6) with the
        structural rail (#16) into desired position.
        Use the level to correct position assembly.
        Mark holes on the wall for the side glass
        support (#20).  Mark the circumference
        location for the wall mount bracket (#1).

NOTE: Make sure to keep the side glass
        panel perpendicular to the structural rail.
        Failure to do this can lead to the glass
        breaking and bodily harm.

5.     Remove the side glass panel (#6) and the
        structural rail (#16).  Drill holes into the wall
        where marked for the glass supports (#20)
        and in the center of the circumference of the
        wall mount bracket (#1) *70 1/4" and place
        plastic anchors (#24) in them.

A4
20

20
1 6

16

24

24

A5

7
0
 1

/4
"

7
0
 1

/4
"

7
0
 1

/4
"

33 3/4"

7

7

MODEL VG06051 9

6.     Unscrew plate from the wall mount bracket
        body (#1) using the hex key.  Place the wall
        mount bracket plate (#1) to the wall and
        screw in the plate using the 2" screw (#23).
        There is a 13mm adjustment built into the
        plate for minor modifications.

A6
PLATE

HEX
SCREW

BRACKET BODY

1

13mm

1

PLATE

23

7

9



11MODEL VG06051

B1B.    INSTALLING THE BIG FRONT FIXED PANEL
1.    Screw the fixed panel bottom clip (#10) to the
       big front fixed panel (#4).  Place thin gaskets
       on each side of the panel.

2.    Place the side seal strip (#18) on the big front
       fixed panel (#4) on the side of the wall.

THIN GASKET

4

10

B2

4

18

WALL SIDE

4

10

TOP VIEW

INSIDE OF THE SHOWER

OUTSIDE OF THE SHOWER

18

THIN GASKET

THIN GASKET

10MODEL VG06051

7.     Place the side glass panel and the structural
        rail back to the shower opening.  Screw the
        side glass supports to the wall with 1 5/8"
        screws (#22).  There is a 10mm adjustment
        built into the glass supports for minor
        modifications.  Thread the wall mount
        bracket body (#1) back onto the plate and
        tighten the set screw using the hex key
        supplied.  Tighten the structural rail screw
        (#17).

A7

20

20
1 6

16

10mm
ADJUSTMENT

20

22

24
20

22

22

17

PLATE

HEX
SCREW

BRACKET BODY

1

7
0
 1

/4
"

33 3/4"

7

10



11MODEL VG06051

B1B.    INSTALLING THE BIG FRONT FIXED PANEL
1.    Screw the fixed panel bottom clip (#10) to the
       big front fixed panel (#4).  Place thin gaskets
       on each side of the panel.

2.    Place the side seal strip (#18) on the big front
       fixed panel (#4) on the side of the wall.

THIN GASKET

4

10

B2

4

18

WALL SIDE

4

10

TOP VIEW

INSIDE OF THE SHOWER

OUTSIDE OF THE SHOWER

18

THIN GASKET

THIN GASKET

11



12MODEL VG06051

3.    Place the big front fixed panel (#4) in the
       shower opening making sure to have the fixed
       panel bottom clip (#10) closer to the wall.
       Screw the big front fixed panel to the structural
       rail (#16) with the fixed panel holders (#2).

B3

15

16

4

10

4

4

TOP VIEW

INSIDE OF THE SHOWER

OUTSIDE OF THE SHOWER

2

1
15

18

15

16

2

10

7

12



13MODEL VG06051

4.    Make sure the front fixed panel is level and
       mark the fixed panel bottom clip (#10)
       location on the floor.

5.    Remove the big front fixed panel from the
       position in the opening.  Unscrew and
       detach the fixed panel bottom clip (#10)
       from the big front fixed panel and place it
       where you marked the floor.  Mark a hole
       on the floor for the mounting screw.

B4

15

16

10

B5

10

4

7

13MODEL VG06051

4.    Make sure the front fixed panel is level and
       mark the fixed panel bottom clip (#10)
       location on the floor.

5.    Remove the big front fixed panel from the
       position in the opening.  Unscrew and
       detach the fixed panel bottom clip (#10)
       from the big front fixed panel and place it
       where you marked the floor.  Mark a hole
       on the floor for the mounting screw.

B4

15

16

10

B5

10

4

7

13



14MODEL VG06051

6.    Drill the hole and place a plastic anchor
       (#25) inside it.

7.    Screw the fixed panel bottom clip (#10) to
       the floor with 1 1/8" screw (#21).

B6

25

B7

21

14MODEL VG06051

6.    Drill the hole and place a plastic anchor
       (#25) inside it.

7.    Screw the fixed panel bottom clip (#10) to
       the floor with 1 1/8" screw (#21).

B6

25

B7

21

14



MODEL VG06051
15

8.    Align the big front fixed panel to the shower
       opening location.  Screw the big front fixed
       panel to the structural rail with the fixed
       panel holders.  Screw the fixed panel
       bottom clip (#10) to the big front fixed
       panel.

B8

15

16

4

10

4

4

TOP VIEW

INSIDE OF THE SHOWER

OUTSIDE OF THE SHOWER

2

1
15

18

15

16

2

10

4

10

7

15



MODEL VG06051
16

C1
C.    INSTALLING THE SMALL FRONT FIXED PANEL
1.     Align the small front fixed panel (#5) to the
       shower opening.  Make sure you place the
       panel with the holes closer to the corner.
       The difference is minimal so stop to measure
       as needed.

2.    Unscrew the corner brackets (#8).  Align the
       corner brackets to their respective positions
       from inside the shower. Place the corner
       plates on the outside of the shower.  Screw
       in the corner plates to the corner brackets
       with the provided screw from inside the
       shower.  The side seal strip (#18) will be firmly
       compressed between the small front fixed
       panel (#5) and the side glass panel (#6).
       This is to prevent water leakage.

5

C2

8

PLATE
CORNER
BRACKET

8

1 7/16"1 11/16"

5

7

7

MODEL VG06051
16

C1
C.    INSTALLING THE SMALL FRONT FIXED PANEL
1.     Align the small front fixed panel (#5) to the
       shower opening.  Make sure you place the
       panel with the holes closer to the corner.
       The difference is minimal so stop to measure
       as needed.

2.    Unscrew the corner brackets (#8).  Align the
       corner brackets to their respective positions
       from inside the shower. Place the corner
       plates on the outside of the shower.  Screw
       in the corner plates to the corner brackets
       with the provided screw from inside the
       shower.  The side seal strip (#18) will be firmly
       compressed between the small front fixed
       panel (#5) and the side glass panel (#6).
       This is to prevent water leakage.

5

C2

8

PLATE
CORNER
BRACKET

8

1 7/16"1 11/16"

5

7

7

16



MODEL VG06051 17

D.    INSTALLING THE THRESHOLD
1. Position the right threshold clip (#14) at the
       bottom of the small front fixed panel (#5).
       Mark the location for the mounting hole.
       Position the left threshold clip (#13) at the
       bottom of the big front fixed panel (#4).  Mark
       the location for the mounting hole.

2. Remove the threshold clips (#13 and #14).
       Drill holes into the respective marks and put
       plastic anchors (#25) in them. Not
       necessary if installing into studs.  Studs
       are the preferred means of installation,
       anchors can pull out of the wall causing
       property damage and bodily harm.

3. Position the door threshold (#12) into the
opening and replace the threshold clips
(#13  and #14) to their proper position over
the threshold (#12).  Screw them into the
floor with 3/4" screws (#23).

D1

D2

5

13

14

4

5

4

25
25

!

D3

5

4

25

25

12

23

23

MODEL VG06051 17

D.    INSTALLING THE THRESHOLD
1. Position the right threshold clip (#14) at the
       bottom of the small front fixed panel (#5).
       Mark the location for the mounting hole.
       Position the left threshold clip (#13) at the
       bottom of the big front fixed panel (#4).  Mark
       the location for the mounting hole.

2. Remove the threshold clips (#13 and #14).
       Drill holes into the respective marks and put
       plastic anchors (#25) in them. Not
       necessary if installing into studs.  Studs
       are the preferred means of installation,
       anchors can pull out of the wall causing
       property damage and bodily harm.

3. Position the door threshold (#12) into the
opening and replace the threshold clips
(#13  and #14) to their proper position over
the threshold (#12).  Screw them into the
floor with 3/4" screws (#23).

D1

D2

5

13

14

4

5

4

25
25

!

D3

5

4

25

25

12

23

23

MODEL VG06051 17

D.    INSTALLING THE THRESHOLD
1. Position the right threshold clip (#14) at the
       bottom of the small front fixed panel (#5).
       Mark the location for the mounting hole.
       Position the left threshold clip (#13) at the
       bottom of the big front fixed panel (#4).  Mark
       the location for the mounting hole.

2. Remove the threshold clips (#13 and #14).
       Drill holes into the respective marks and put
       plastic anchors (#25) in them. Not
       necessary if installing into studs.  Studs
       are the preferred means of installation,
       anchors can pull out of the wall causing
       property damage and bodily harm.

3. Position the door threshold (#12) into the
opening and replace the threshold clips
(#13  and #14) to their proper position over
the threshold (#12).  Screw them into the
floor with 3/4" screws (#23).

D1

D2

5

13

14

4

5

4

25
25

!

D3

5

4

25

25

12

23

23

17



11MODEL VG06051

B1B.    INSTALLING THE BIG FRONT FIXED PANEL
1.    Screw the fixed panel bottom clip (#10) to the
       big front fixed panel (#4).  Place thin gaskets
       on each side of the panel.

2.    Place the side seal strip (#18) on the big front
       fixed panel (#4) on the side of the wall.

THIN GASKET

4

10

B2

4

18

WALL SIDE

4

10

TOP VIEW

INSIDE OF THE SHOWER

OUTSIDE OF THE SHOWER

18

THIN GASKET

THIN GASKET

MODEL VG06051 18

ROLLER (3)

SMALL HEX
HOLE

3/8" VARIANCE

ROLLER HEIGHT
ADJUSTMENT
SCREW

ROLLER HEIGHT
ADJUSTMENT
SCREW

OUTSIDE OF
THE SHOWER

ROLLER (3)

SMALL HEX
HOLE

ROLLER HEIGHT
ADJUSTMENT
SCREW

E2

E.    INSTALLING THE DOOR
1. Remove the rollers (#3) from the box, note

that these are fully installed.  Carefully
unthread the cap with a small head allen
key. You will see a big hex screw, this is
referred to as the roller height adjustment
screw.

2. Use the provided allen key to unscrew the
adjustment screw and dismantle the roller.
Place the screw through door panel top
holes and attach the two top rollers onto the
door panel (#7).

E1

MODEL VG06051 18

ROLLER (3)

SMALL HEX
HOLE

3/8" VARIANCE

ROLLER HEIGHT
ADJUSTMENT
SCREW

ROLLER HEIGHT
ADJUSTMENT
SCREW

OUTSIDE OF
THE SHOWER

ROLLER (3)

SMALL HEX
HOLE

ROLLER HEIGHT
ADJUSTMENT
SCREW

E2

E.    INSTALLING THE DOOR
1. Remove the rollers (#3) from the box, note

that these are fully installed.  Carefully
unthread the cap with a small head allen
key. You will see a big hex screw, this is
referred to as the roller height adjustment
screw.

2. Use the provided allen key to unscrew the
adjustment screw and dismantle the roller.
Place the screw through door panel top
holes and attach the two top rollers onto the
door panel (#7).

E1

18



MODEL VG06051 19

7

16

3.     Place the two top rollers and the door
        panel (#7) assembly onto the
        structural rail (#16).

Note that the rollers have a built-in
        mechanism that will provide
        adjustment for walls that are not 100%
        perpendicular to the floor. If necessary,
        loosen the adjustment screw and rotate the
        individual roller. This will raise or lower the
        height that the roller sits on the structural
        rail. Please refer to pages 25-26 for
        Roller Adjustments to Accommodate
        Out of Square Openings . Once the rollers
        are properly adjusted and the door sits
        flush against the wall in the closed
        position, the adjustment will be
        complete. Fully tighten the adjustment
        screws and re-install the roller caps.

4. Align the door guide (#11) onto the door.
       Use a level to make sure the door is straight.
       Mark the location of the bottom door guide
       on the floor.

E3

11

7

E4

MODEL VG06051 19

7

16

3.     Place the two top rollers and the door
        panel (#7) assembly onto the
        structural rail (#16).

Note that the rollers have a built-in
        mechanism that will provide
        adjustment for walls that are not 100%
        perpendicular to the floor. If necessary,
        loosen the adjustment screw and rotate the
        individual roller. This will raise or lower the
        height that the roller sits on the structural
        rail. Please refer to pages 25-26 for
        Roller Adjustments to Accommodate
        Out of Square Openings . Once the rollers
        are properly adjusted and the door sits
        flush against the wall in the closed
        position, the adjustment will be
        complete. Fully tighten the adjustment
        screws and re-install the roller caps.

4. Align the door guide (#11) onto the door.
       Use a level to make sure the door is straight.
       Mark the location of the bottom door guide
       on the floor.

E3

11

7

E4

19



MODEL VG06051 20

5.     Remove the door from the structural rail.
        Mark holes on the floor for the mounting
        screws.

6.     Drill the holes and place plastic anchors
        (#25) inside them.

7.     Screw the door guide to the floor with 1 1/8"
        screws (#21).

E5

11

E6

11

25

E7

11

25

21

MODEL VG06051 20

5.     Remove the door from the structural rail.
        Mark holes on the floor for the mounting
        screws.

6.     Drill the holes and place plastic anchors
        (#25) inside them.

7.     Screw the door guide to the floor with 1 1/8"
        screws (#21).

E5

11

E6

11

25

E7

11

25

21

MODEL VG06051 20

5.     Remove the door from the structural rail.
        Mark holes on the floor for the mounting
        screws.

6.     Drill the holes and place plastic anchors
        (#25) inside them.

7.     Screw the door guide to the floor with 1 1/8"
        screws (#21).

E5

11

E6

11

25

E7

11

25

21

20



MODEL VG06051 21

8. Place the door back on the structural rail.
        Screw the bottom rollers (#3) to the door.
        Follow step E2.

9.     Adjust the door stoppers' (#15) position on
       the structural rail and tighten the hex screws.

E8

7

16

E9

7

15

15

MODEL VG06051 21

8. Place the door back on the structural rail.
        Screw the bottom rollers (#3) to the door.
        Follow step E2.

9.     Adjust the door stoppers' (#15) position on
       the structural rail and tighten the hex screws.

E8

7

16

E9

7

15

15

21



9

7

4

7

19

19

THIS END MUST
LOOK INSIDE
THE SHOWER

19
7

5

4

MODEL VG06051 22

G1G.    INSTALLING THE WATER SEAL STRIP
1.    Place the seal strip (#19) to both ends of the
       door and to the big front fixed panel.  Start the
       seal strip on the door right above the door
       guide 7/8" up from the bottom.  Cut the flange
       off of the seal strips (#19) beneath the
       structural rail and door stoppers to provide
       clearance for the door to slide open and
       closed.

F1F.    INSTALLING THE HANDLE
1.    Unscrew the handle holders from the handle
       (#9).  Align the handle to its respective door
       position with a plastic washer on each side of
       the door.  Tighten the handle holders from the
       inside of the shower cabin.  Position the
       door stoppers in a spot on the structural
       rail that will avoid the handle from hitting
       the glass when the door is in an open
       position. 7

!

9

7

4

7

19

19

THIS END MUST
LOOK INSIDE
THE SHOWER

19
7

5

4

MODEL VG06051 22

G1G.    INSTALLING THE WATER SEAL STRIP
1.    Place the seal strip (#19) to both ends of the
       door and to the big front fixed panel.  Start the
       seal strip on the door right above the door
       guide 7/8" up from the bottom.  Cut the flange
       off of the seal strips (#19) beneath the
       structural rail and door stoppers to provide
       clearance for the door to slide open and
       closed.

F1F.    INSTALLING THE HANDLE
1.    Unscrew the handle holders from the handle
       (#9).  Align the handle to its respective door
       position with a plastic washer on each side of
       the door.  Tighten the handle holders from the
       inside of the shower cabin.  Position the
       door stoppers in a spot on the structural
       rail that will avoid the handle from hitting
       the glass when the door is in an open
       position. 7

!

22



MODEL VG06051 23

I.     INSTALLING HEX SCREW COVERS
1. Install hex screw covers (#26) to the hex

screws that mount the hardware and glass
supports.

I1

HEX SCREW
COVER

H1H.    APPLYING THE SILICONE
1. Apply silicone caulk along the wall and floor

of the shower enclosure interior.  Apply
silicone caulk along the fixed panel and the
threshold enclosure interior.

10

8

MODEL VG06051 23

I.     INSTALLING HEX SCREW COVERS
1. Install hex screw covers (#26) to the hex

screws that mount the hardware and glass
supports.

I1

HEX SCREW
COVER

H1H.    APPLYING THE SILICONE
1. Apply silicone caulk along the wall and floor

of the shower enclosure interior.  Apply
silicone caulk along the fixed panel and the
threshold enclosure interior.

10

8

23






